
At a point of the game, each player has his/her pawn on a different station. Can you guess where is each one?

1. Wendy's pawn is placed on East Station or she has bought

the purple contracts.

2. Nobody is in the station with the same initial as his/her

name.

3. The apple and the pear are on opposite stations. Neither of

them belongs to the player who has the green contracts.

4. The candle is not on West Station.

5. Starting from the candle and moving clockwise, you meet:

the pear, Egon's pawn, and the pawn belonging to the player

who has the purple contracts.

6. The owner of the green contracts doesn't have a limo, and

his/her pawn isn't on East Station.

7. If a girl has the apple pawn, then the other girl owns the

red contracts.
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At a point of the game, each player has his/her pawn on a different station. Can you guess where is each one?

1. Wendy's pawn is placed on East Station or she has bought

the purple contracts.

2. Nobody is in the station with the same initial as his/her

name.

3. The apple and the pear are on opposite stations. Neither of

them belongs to the player who has the green contracts.

4. The candle is not on West Station.

5. Starting from the candle and moving clockwise, you meet:

the pear, Egon's pawn, and the pawn belonging to the player

who has the purple contracts.

6. The owner of the green contracts doesn't have a limo, and

his/her pawn isn't on East Station.

7. If a girl has the apple pawn, then the other girl owns the

red contracts.
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